1.

RETFAN =ZAKk FHE o1

ROGMZH-T 0 #RDX. 72771, 0°<60<360°. (S0, A2, B34, C#547)

(1) sinf = % (2) cosf = % (3) tanf = /3
(4) cosfh = —1 (5) sinf — _ﬁ (6) tanf = —1
2
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2.

(1)

(4)

ROFEM%HT-T 0 2RKDX. 7271, 0°<0<360°. (S0, A2, B3, CHs55)

. 1 1
sinf = —= (2) f=——— (3) tanf=0
5 cos 7
. 1 .
sinf = — (5)  sinf=1 VB
V2 (6) cosf = 5
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1.

R&7T X

=Alk ¥&E o1

R

ROFEM%MT-T 0 ZRdDX. 72721, 0°<60<360°. (S50, A2, B3 D, CH59)

*x ZALMSAEZERD D

© HAZM (L, b = B) 2H#6<

@ zHEDIEDMEEDOAEN) LD X%, BB LOE P%2E2%.

sinf >0 = 0°<6<180° (P D yEEDIE~ 2o L)
sinf <0 = 180° < 6 < 360° (5 P I3y MHBIERE~ 2 fliDT)
cosf® >0 = 0°<6<90° Xl 270° < 6 < 360° (FiP Dz JEEDE~ yfiliD4)
cosf <0 = 90° < § < 270° (P D x BEEED A~ yHilD /)
Yo () NZ2HEOHBTAX—YTEBLHITT 5.
(1) sinf = % cosf = % (3) tanf = /3
Yy Yy Yy P,
Py
P, Py
30 0° 15° Q2 0
O ( we Q] 7 60%/0 Qi x
P, Py
sinf >0 = gHik) L cosf <0 = yhlihikvbAH tanf = /3 (EfE P PO E)
ing= L _ 1 = 0Q;:PiQi=1:V3
sin @ 5 cosé)fﬁ Q:P1Qs V3

= OP12P1Q1:221

= /P,;0Q, = 30°

= OP1 . OQl = \/?Z 1
= /P,0Q, = 45°

= /P,0Q, = 60°
£oT, LoD,

S 0 = 60°, 240°
£27T, LORLDY, 5T, LoD, ’
0 = 30°, 150° 6 — 450, 3150
(4) cosh=-1 §inf — _ V3 (6) tanf = —1
2
y y y
Py
P 0 Qo Q 15N0_ Q
O x 60 60c X Ql 450 z
P
Py P
cosf <0 = yhkv/AE snf <0 = zHikhTF tanf = —1 (B PLPOHE)
cosf = —1 - V3 = 0Q;:P1Q:=1:1
sinf = — Y=
= P(-1,0) 2 = /P,0Q; = 45°

= OP;:P1Q;=2:V3
= /P,0Q; =60°
koT, EoXXD,
6 = 180° + 60°, 360° — 60°
= 6 = 240°, 300°

oT, LKLY,
0 = 180°

£oT, EOXK&D,
0 = 180° — 45°, 360° — 45°
= 9 =135°, 315°
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ROFEM%HT-T 0 2RKDX. 7271, 0°<0<360°. (S0, A2, B3, CHs55)

(1) sinf=—L 2 cosf = ——L_ (3) tanf = 0
2 V2
Yy Y Yy
Py
1 0 Q 45 Py
3 0° T Q| 459710 T Po O T
Py Py
Py
sind<0 = zHIXDT cosf <0 = ylilikb/i tanf =0  ((EfR P PyDfE &)
sin@:—% COSH:—% J:OT, J:O)ct b,
2
. _ 9. 0 = 0°, 180°
= O0OPy:P1Q:=2:1 N OPl:Olex/i:l ’
= 400, =30 = /P,0Q, = 45° s
£oT, LKLY, S YR A v b
¥oT, EOXK LD, . S
0 = 180° + 30°, 360° — 30° 0 — 180° — 45°. 180° + 45° 0 =180°D & T2 T4z,
= 6 =210°, 330° L 9135, 225°
(4)  sinf=—— (5) sinf =1 _ V3
V2 (6) cosf 3
y yip y
Py Py
Py
0
A5NNAL5° A Q 30%.0
Q O Q1 z O x 3 z
P2
sin9>01:> z ik bk sinf >0 = zHIXD L cosh <0 = ylhkyr
inf = — sinf =1
S V2 cosﬁzfﬁ
= OP,:PiQ1=+v2:1 = P(0,1) 2
_ 1 - 11 o . cl:")\f, J:O)J:b, = OP1,0Q1:2:\/§
& 1411:101;@45 6 = 90° = /P10Q; =30°
27T, LD ) ko, oMLY,
J— (o] [o)
9 = 45°, 135 § = 180° — 30°, 180° + 30°

= 6 =150°, 210°
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